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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER -VI « EXAMINATION — WINTER 2015

Subject Code: 3361906
Subject Name: POWER PLANT ENGINEERING
Time: 02:30 PM TO 05:00 PM
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Attempt all questions.
Make Suitable assumptions wherever necessary.
Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.

Use of only simple calculator is permitted in Mathematics.
English version is authentic.
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Answer any seven out of ten. £2HIl SlEURL Ulcloll et .

State types of energy sources.
o129 ARl YslR xRl
Define central power plant and captive power plant.

AA WaR wie Aol 5ela ulaR wdie ol catvall vl

State any 4 advantages of nuclear power plant.
oyscflalr UlaR eiaall 4 SlAEL v,

State any two parameter of power cycle.

UlaR ALBsColl A VRAHleR es.ual.

List high pressure boilers with application.

818 YAR dloeR Aol Micllduet W dle s2A.
Explain ESP.

ESP Al

Draw line diagram of reheat renkine cycle.

3 dle st ABsAA AN gl ERA.

Draw line diagram of closed cycle gas power plant.

SAlA WBSEA A UlAR wetie ofl Al gl 1R

List advantages of hydro power plant.
BBl UldR weie ol slAEL Al
What is cost of electrical energy?

sl Alg BASES Aol 9 O ?

State Difference between power plant and power station.

YlaR WAie Wal UlaR ot dAell dglald s,

OR

State energy conversion in various power plant with line diagram.
Al wlgcl glRl AasQu UaR wdie oll Aoty Soiclial ¥R,

Explain national grid and it’s importance.
AU Qs WA Ao Hecel UM
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OR
Explain general arrangement of nuclear power plant.

oyscllaR WaR eieodl Ao JNeUARl AU,
Explain simple renkine cycle with P-V and T-S diagram.
AULEL 35180t UBSA P-V and T-S (A A AHx1C.

OR
Explain methods of improving rankine cycle efficiency.

35180l AUBsAo( stlealdl auallell Al AHesAl.
Explain benson boiler.
Aoltel A8 AHsLAl.

OR
Explain super heater and air pre heater of high pressure boiler .

L8 YAUR GlBAR oll YUR 8laR ual AR Yl gler umesal

Draw schematic diagram of modern thermal power plant
8ot &M WaR wizall AEls st R

OR
Explain pulverized fuel handling systems.

UCCRIBRS e dscllol utuld Axestal.
Explain effect of load variation in steam power plant.
VI WaR wieHl Als AZlAvet ofl AR AUl

OR
State basic elements and requirements of good control system of power plant.

ulaR wieell afls Adlie wal A3l sl AR 33l

(L.
Explain need of record keeping and their purpose in power plant.
ulaR wetieHl 818 slUlol ual Aol & AHA.

OR
Explain methods to improve the thermal efficiency of a simple open cycle
constant pressure gas turbine power plant

AY 2Rellset UlelR weieo(l URHA stlealdl auRal ol A
AHesLal.

In air standard gas turbine , air enter at 16 deg. Centi and 1.01 bar in
compressor . where it’s pressure is increased by 5 times . The temp. of air
entering turbine is 810 deg. Centi and expansion up to 1.01 bar pressure .

find work ration of turbine to compressor. (r = 1.4 and Cp= 1.005 kJ/Kg K)

s A WSS AU UMl scll 16 deg. Centi U Wl 1.01 GAR
g0l SLAUHL EIHUA A 8. Rl doj EGIQL Ul 2R culRalHl
WA . 20UBAHL EMHA Ul dcllo] dAlUHLel 810 deg. Centi & wal
Rl eal Aulcdoll eollgl Yl (ARl WA B. 20U8et cAf ol

slyAR aboll oJRll? WH.( r = 1.4 and Cp= 1.005 ki/Kg K)
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State essential components of gas turbine power plant and explain their
functions.

AU 2Roll8el WaR weigell %33 etoll el Ual Asil sl UnstAl

Write advantages and disadvantages of wind power plant.
ls ulaR wizell SlAEL WA AR FlAEL AUl

OR
State conversion systems for solar energy and Explain Tower concept for
power generation.

AAR Aol SoldUol lAeH HRUA WA ULR %ol HIZ 2lalR

st Urt(d AHesAl.
Explain potential of solar and wind energy in India with current data.
AUR ML AAR Wl Uclal Gosl ol sl 2 sl Gudo 32t

AL 3L

OR
Explain cost of electrical energy.

BASELS WotR%) ofl SlHd [lA uHesAl

A steam power plant working on rankine cycle having boiler pressure 35 bar
and condenser pressure 0.1 bar .steam temp. entering turbine is 350
deg.centi. find 1) rankine cycle efficiency 2) specific steam consumption
.(use mollier chart and steam table )

35180t ABSA UR sl 5l RIH WaR wie M2 dl8ER Ecllll 35
GllR Aol 513U EGIRL 0.1 GIR 8 . 26UBel Ul EMHA AUl AR(Sq]
G.UL 350 Sl A B. Al 1) 358l ABsA €&l 2) WAgls Eln
U 20l ( use mollier chart and steam table)

Explain terms 1. Load curve 2. Demand factor, 3. Average load 4. Plant
capacity factor.
YEL AHestall. 1. Load curve 2. Demand factor, 3. Average load 4. Plant

capacity factor.

A power plant having yearly maximum load is 180 MW. And minimum load
iIs 60 MW. Plant generate 92x10"4 MWh energy . this plant has one unit of
110 MW and 2 units of 60 MW . find 1. Load factor 2. Total capacity . 3.
Average load 4. Plant capacity factor .

As UlR Weieoll AW cdRUHL HETH @R 180 MW ual AdJdH GUR
60 MW 8. 3l Wiz drd eAM2Ulel 92x107 MWh Al Beudt 52 8.
UL Welloz HL 110 MW of As Y2 wal 60 MW oll A Y[a2 wAcl
8. cl 1. Load factor 2. Total capacity. 3. Average load 4. Plant capacity

factor . 2.

Explain Diesel power plant.

Sldc UleR wetie AUl

State Criteria for selection of installation of nuclear power plant
oscllaR UlaR wie eual HIz Udeed(lotl stesdlau seudl .
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